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Multiple Choice Question
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If y = f(x +2) and f '(3) = 5, then   at x = 1 is

(a) 5  (b) 25  (c) 15  (d) 10
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If f(x) = x  - 3x, then the points at which f(x) = f '(x) are

(a) both positive integers  (b) both negative integers  (c) both irrational  (d) one rational and another irrational

2

If   , then   is

(a)  (b) -(z - a)  (c) (z + a)  (d) -(z + a)
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If y = cos (sin x ), then   at x =   is

(a) -2  (b) 2  (c)  (d) 0
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If y = mx + c and f(0) = , then f(2) is

(a) 1  (b) 2  (c) 3  (d) -3

(0) = 1f ′

If f(x) = x tan  x, then f '(1) is
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 is

(a) e .x (x+5)  (b) e .x(x+5)  (c) e  (d) e
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If the derivative of (ax - 5)e  at x = 0 is -13, then the value of a is

(a) 8  (b) -2  (c) 5  (d) 2
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 then is
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If x = a sin   and y = b cos  , then  is

(a)  (b)  (c)  (d) 
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The differential coefficient of log  x with respect to log 10 is

(a) 1  (b) -(log x)  (c) (log 10)  (d) 
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If f(x) = x + 2, then f '(f(x)) at x = 4 is

(a) 8 (b) 1 (c) 4 (d) 5
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(a) 8  (b) 1  (c) 4  (d) 5

If  , then   is

(a)  (b)  (c)  (d) 
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If pv = 81, then   at v = 9 is

(a) 1  (b) -1  (c) 2  (d) -2

dp

dv

, then the right hand derivative of f(x) at x = 2 is

(a) 0  (b) 2  (c) 3  (d) 4

 If f(x) =
⎧
⎩⎨

x − 5
4 − 9x2

3x + 4

 if x ≤ 1
 if 1 < x < 2
 if x ≥ 2

It is given that f '(a) exists, then   is

(a) f(a) - af '(a)  (b) f '(a)  (c) - f '(a)  (d) f(a) + af '(a)

limx→a
xf(a)−af(x)

x−a

If  , then f'(2) is

(a) 0  (b) 1  (c) 2  (d) does not exist

f(x) = {x + 1,  when x < 2

2x − 1 when x ≥ 2

If g(x) = (x  + 2x + 3) f(x) and f(0) = 5 and  , then g'(0) is

(a) 20  (b) 14  (c) 18  (d) 12

2 li = 4mx→0
f(x)−5

x

If f(x) = , then at x = 3, f'(x) is:

(a) 1  (b) -1  (c) 0  (d) does not exist
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5,

8 − x,

−1 < x < 3

x = 3

x > 3

The derivative of f(x) = x |x| at x = −3 is

(a) 6  (b) -6  (c) does not exist  (d) 0

If  , then which one of the following is true?

(a) f(x) is not differentiable at x = a  (b) f(x) is discontinuous at x = a  (c) f(x) is continuous for all x in R

(d) f(x) is differentiable for all x   a

f(x) = { 2a − x,
3x − 2a

 for  − a < x < a

 for  x ≥ a

≥

 

(a)  (b)  (c)  (d) 

 If f(x) = {   is differentiable at x = 1 , then 
a − b,x2

,1
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The number of points in R in which the function   is not differentiable, is

(a) 3  (b) 2  (c) 1  (d) 4

f(x) = |x − 1| + |x − 3| + sin x

Choose the correct or the most suitable answer from the given four alternatives.

If f(x) = 4x , then ________

(a)  (b)  (c)  (d) 
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 Choose the correct or the most suitable answer from the given four alternatives.

If   then   is _____

(a) 1  (b)  (c)  (d) 0

y = x + xsin−1 cos−1 dy

dx

π π
2

 Choose the correct or the most suitable answer from the given four alternatives.

If   then   is ______

(a)  (b)  (c)  (d) 

y = xloga
dy

dx

1
x

1
x aloge

log a
e

1
xloga
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Choose the correct or the most suitable answer from the given four alternatives.

If  , then   is _________

(a) 1  (b) 0  (c) 2  (d) x

f (x) = x + 1 ( f (x))d

dx
f0

Choose the correct or the most suitable answer from the given four alternatives.

 then   is _____

(a) 2  (b) -2  (c) 1  (d) -1

If sin (x + y) = log (x + y) dy

dx

Choose the correct or the most suitable answer from the given four alternatives.

For the curve   _________

(a)  (b) 1  (c) -1  (d) 2
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Choose the correct or the most suitable answer from the given four alternatives.

The derivative of   with respect to   is _____

(a) 2  (b)  (c)  (d) 

(2 − 1)cos−1 x2 xcos−1

1

2 1−x2√
2
x 1 − x2

Choose the correct or the most suitable answer from the given four alternatives.

If   then   is ______

(a)  (b)  (c)  (d) 

y = log( )1−x2
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dy
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1
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Choose the correct or the most suitable answer from the given four alternatives.

The derivative of  with respect to is _______

(a)  (b)  (c)  (d) 

sinx cosx

tanx cotx − tanx − cotx

Choose the correct or the most suitable answer from the given four alternatives.

If   then   is ______

(a)  (b)  (c)  (d) 

y = ( )sin−1 1−x2
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Choose the correct or the most suitable answer from the given four alternatives.

If   then   is ______

(a)  (b)  (c)  (d) 

x = a(θ + sin θ), y = a(1 + cos θ)
dy

dx

tan θ
2

− tan θ
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2
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Choose the correct or the most suitable answer from the given four alternatives.

If,   where a, b are arbitrary constants, then ____

(a)  (b)  (c)  (d) 

y = a + bx2

= 2xyyd
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Match List - I with List II

  LIST I   LIST II

i aIdentity

ii b
Singular

matrix

iii c
Skew-

Symmetric

iv dSymmetric

The Correct match is _______

(a)

i iiiiiiv

dc b a

 (b)

i iiiiiiv

cd b a

 (c)

i iiiiiiv

ba d c
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Choose the incorrect pair?

(a) 330  -  radians  (b)  - 200  (c) 0  - 0  (d) 2  - 360o 11π
6
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3
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If   then   equals _____

(a) 2x - 5 for 2 < x < 3  (b) 5 - 2x for 2 < x < 3  (c)  (d) 

f(x) = − 5x + 6∣∣x2 ∣∣ (x)f ′

2x − 5 for 2 ≤ x ≤ 3 5 − 2x for 2 ≤ x ≤ 3

If   then the derivative of   at x = 0 is, _______

(a) 2  (b) 8  (c) 16  (d) 4

f(0) = 0, (0) = 2,f ′ y = f(f(f(f(x))))

If  then   is equal to _______

(a)  (b)  (c) ny  (d) n y

y = a + b ,xn+1 x−n x2 yd2

dx2

n(n − 1)y n(n + 1)y 2

If y = a sin x + b cos x, then   is a ______

(a) function of x  (b) function of y  (c) function of x and y  (d) constant

+y2 ( )dy
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 is equal to _______

(a)  (b)  (c)  (d) 
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If  , then   is equal to ______

(a) a + b  (b) 1 + xy  (c) 1- xy  (d) xy - 2

y = xsin−1

1−x2√
(1 − )x2 dy

dx

If  , then   _____

(a)  (b)  (c) 3  (d) 1
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If  , then   is ____

(a)  (b)  (c)  (d) 

y = logx + logx + logx + … ∞
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If f(x) = mx + c and f(0) = f'(0) = 1 then f(3) is :

(a) 3  (b) 1  (c) 4  (d) 2

The degree value of 2  radian is :

(a) 90°  (b) 360°  (c) 0°  (d) 180°
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